
Ed' rUfl
159 Industrial Parkway, Burlington, Vermont 05401 P.O. Box 929, Burlington, Vermont 05402

(800)772-2126 Fax (802) 8624822 Visit our website at: http://www.Edlundco.com OO2

#2 CAN OPENER

PART it
LIST

PRICE UlM DESCRIPTION

A026 6.00 EA. ARBOR, #2
A508 19.50 EA. ASSEMBLY, #2 HANDLE/ARBOR
A509 15.00 EA. ASSEMBLY, #2/#8 HANDLE & KNOB
A512 2.00 EA. BASE HARDWARE PKG., #1/#2/#8/G-2/U-12 (3-S503&3-N059)
A518 7.50 EA. ASSEMBLY, #2 KNIFEHOLDER
A5191 23.50 EA. ASSEMBLY, #1/#2 SPRING RELEASE CLAMP
A932SP 17.00 EA. ASSEMBLY, #2/#8 ORS (MILD STEEL) INSERT BASE
A933SP 30.00 EA. ASSEMBLY, #2/#8 STAINLESS STEEL INSERT BASE
B009 42.50 EA. BAR, #2 SLIDE XL (CASTING ONLY)
B012 41.00 EA. BAR, #2 SLIDE (CASTING ONLY)
B121-3 7.50 EA. BUSHING, #2, 3 PACK
GOO4M 106.00 BOX GEAR, #224 PKG.
GOO4SP 4.90 EA. GEAR, #2 SINGLE PACK
H002 10.00 EA. HANDLE, #2/#8/G-2
H020 5.30 EA. HOLDER, #2 KNIFE
1065 4.00 PAIR INSERTS, #2/#8 UNIVERSAL BASE
KOOSM 46.50 BOX KNIFE, #2/20 24 PKG.
KOO5SP 2.15 PKG. KNIFE, #2/20 SINGLE PACK
KOl 1 2.00 EA. KNOB, BLACK #1/#2/#8
P030 .50 EA. PIN, ROLL, 3/16 X 1-1/8 PLATED
R041 .60 EA. RIVET, #2 KNIFEHOLDER
S072-12 6.00 PKG. SCREW, #1/#2 12-24 X 7/16 RHM, 12 PACK
S151 -3 3.00 PKG. SPRING, #2, 3 PACK
S255-3 3.00 PKG. STUC, #1/#2/#8/U-12/G-2 KNOB, 3 PACK
W037 .50 EA. WASHER, #2 SPRING

PDF compression, OCR, web optimization using a watermarked evaluation copy of CVISION PDFCompressor

http://www.cvisiontech.com/


#2 CAN OPENER

4

1509801
159 Industrial Parkway, Burlington Vermont 05401 ' P.O. Box 929, Burlington, Vermont 05402'' (800) 772-2126 Fax (802) 662-4822 Visit our website at: http://www.Edlundco.com 03/02PDF compression, OCR, web optimization using a watermarked evaluation copy of CVISION PDFCompressor

http://www.cvisiontech.com/

